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JR\E<HT 441 -3 196 -1 245 -2 187 0
ELH] 214 -1 99 0 115 -1 81 -1
E=H] 133 0 58 0 75 0 60 0
KEH] 39 0 15 0 24 0 19 0
UNEL] 13 0 4 0 9 0 6 0
aEH] 88 0 39 0 49 0 26 0
SRea ] 50 0 7 0 43 0 7 0
FE LI BT 518 3 271 3 247 0 300 2
FEH] 22 0 12 0 10 0 11 0
17 H] 192 -6 83 -5 109 -1 83 -1
== 101 -2 58 0 43 -2 53 -1
piadiil] 224 3 113 2 111 1 109 1
ZH] 155 -1 72 0 83 -1 69 -1
= SH] 484 -7 256 -5 228 -2 245 -4
#HT 78 1 38 1 40 0 44 1
1GHaH] 105 0 46 0 59 0 41 -1
FASEH] 162 -1 76 -1 86 0 90 0
—&T 0 0 0 0 0 0 0 0
N&ET 111 0 55 0 56 0 55 0
T&ET 149 0 74 0 75 0 58 0
N&ET 85 2 36 1 49 1 39 0
NET 170 0 75 0 95 0 35 0
+&T 255 0 95 0 160 0 127 0
s qealiil] 346 5 147 2 199 3 181 3
EH] 2,664 -2 1,307 -2 1,357 0] 1,109 0
RFRHA] 3,422 6| 1,640 0| 1,782 6| 1,338 0
EEH] 1,583 3 777 2 806 1 569 1
R ] 1,850 -5 945 -3 905 -2 792 -3
FTERHET 444 -4 202 -1 242 -3 191 -1
FHASH]T 3,540 -12| 1,778 -11f 1,762 -1 1,552 -15
H1EHT 2,384 1 1,138 -4 1,246 5 954 -4
Ve[ HE] 1,978 -1 958 -1 1,020 0 621 3




Lzl Bl 4,813 -21 2,377 -6 2,436 -15| 1,847 -7
JIFaHE] g 2,180 1 1,062 -2 1,118 3 855 3
EBZRH] 9,476 10| 4,633 3| 4,843 7| 3,562 -3
=5H] 3,872 -3] 1,878 2 1,994 -5| 1,464 -5
[sR ERE] 1,103 -3 560 -2 543 -1 458 -2
EREFH] R — 2,601 7| 1,237 1 1,364 6 885 2
EREFH] R 73 1,831 0 868 1 963 -1 641 2
EREFHE] Fa ) 598 -2 295 -3 303 1 211 -1
EE7KH] 5,629 13| 2,665 8| 2,964 5 1,908 4
iy i) 175 -4 169 -4 6 0 166 -4
E3RH] 33 0 19 0 14 0 19 0
EIRE—TH 394 -1 202 0 192 -1 173 -1
=TREI”TH 314 -4 138 -3 176 -1 141 -2
EIREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
EIREATH 248 -1 115 0 133 -1 78 -1
re5 0 0 0 0 0 0 0 0
TEE—TH 411 -6 194 -2 217 -4 178 -2
T/ERIZTH 749 -2 348 -1 401 -1 344 -2
TERI=TH 324 -4 157 -3 167 -1 144 0
WERE—TH 485 -1 221 -1 264 0 216 0
HREEZTH 707 -1 328 -2 379 1 342 0
WEE=TH 477 -9 236 -6 241 -3 231 -2
EMAFRE]—T B 319 0 142 0 177 0 145 0
EMEFREI =T B 519 -4 246 -4 273 0 250 -2
JEFLE—TH 184 -1 81 -1 103 0 91 0
JEFLET =T H 402 0 182 2 220 -2 176 0
FEAE—TH 293 6 154 4 139 2 146 2
FEAB ZTH 481 -8 252 -5 229 -3 248 -4
F=H—TH 135 1 65 0 70 1 62 0
FHZTH 338 2 159 1 179 1 157 1
[REEIH 325 1 150 2 175 -1 224 0
il —TH 145 1 79 1 66 0 73 2
rEE — T H 276 -6 119 -3 157 -3 102 -1
R —TH 456 4 214 3 242 1 173 1
R ZTH 388 0 180 0 208 0 155 -1
HFRFEI=TH 512 5 241 1 271 4 222 1
FAFETIU T B 409 1 179 1 230 0 165 0
AR T B 620 -3 272 -1 348 -2 229 -2
¥rRE]—TH 222 -2 124 0 98 -2 108 -2
FEEI”TH 377 -3 214 -3 163 0 210 -3
HIIEER—TH 461 -4 222 -1 239 -3 219 -1
RIEERI " TH 327 -3 151 -2 176 -1 129 -2
1BEE—TH 148 0 70 0 78 0 71 0




IBEEI"TH 632 0 293 1 339 -1 284 0
1ERE=TH 533 -4 272 -2 261 -2 224 0
IEREEUT B 238 1 105 0 133 1 99 0
IBEEATH 705 -1 338 0 367 -1 353 0
Kt —TH 288 4 136 2 152 2 116 3
K] —TH 222 5 112 2 110 3 87 1
AFH—TH 130 -4 61 -3 69 -1 66 -1
AFHZTH 8 0 4 0 4 0 4 0
RFH=TH 187 -1 93 0 94 -1 86 -1
TasEI—TH 663 4 310 0 353 4 244 2
TEREIF T H 322 2 148 1 174 1 123 2
T =TH 376 10 203 6 173 4 146 2
TasEIFEM T B 505 0 241 0 264 0 204 0
TEEIRATH 683 5 336 3 347 2 269 0
TEsEIPENT B 441 -9 226 -5 215 -4 195 -5
TEEIFRETH 675 8 333 3 342 5 310 3
TasEPEA\TH 682 6 330 3 352 3 284 0
TEHEER—TH 1,438 -9 691 -3 747 -6 591 -2
TEHEER-TH 414 3 211 4 203 -1 170 2
TEHHEER=TH 675 -3 317 -2 358 -1 275 0
TEHERNTH 1,140 -2 545 -3 595 1 462 -2
TERERAETH 1,082 7 612 4 470 3 588 1
TEHERATH 583 0 292 -2 291 2 321 -4
TEHHEERETH 1,499 4 761 3 738 1 620 -2
TEHERNATH 1,274 7 585 5 689 2 582 1
TEHERATH 434 3 211 3 223 0 145 2
TEsEIE—TH 76 1 43 0 33 1 65 1
TAHEIEZTH 86 2 53 1 33 1 65 1
4N G 81,747 -26( 39,729 -27| 42,018 1| 33,247 -49
KEHTE 121 -1 50 -1 71 0 72 0
AEH]H 116 0 57 0 59 0 66 0
AEHTERLE 13 0 4 0 9 0 10 0
A SH]/)\BR 119 -1 54 0 65 -1 56 0
AEHTAH 11 0 6 0 5 0 7 0
AEH]tEH 69 -1 29 0 40 -1 28 -1
KEHTFRE 10 0 5 0 5 0 7 0
AEHE /R 7 0 2 0 5 0 4 0
45 12 0 4 0 8 0 9 0
ABEHIXEEST 478 -3 211 -1 267 -2 259 -1
IN=LRvE S 32 0 16 0 16 0 20 0
IN= PN 40 0 17 0 23 0 27 0
INSLIE ) 42 0 17 0 25 0 22 0
[ SHER S 33 0 14 0 19 0 21 0
INS LI S 64 0 32 0 32 0 34 0




[LEHHH 31 0 16 0 15 0 16 0
INS LIS 30 1 19 1 11 0 19 1
[LEE/NFB 44 0 21 0 23 0 22 0
FSH] 40 0 22 0 18 0 26 0
[ EHBXEEET 356 1 174 1 182 0 207 1
SIERSET 834 -2 385 0 449 -2 466 0
TESRHT R _E 1,395 3 673 1 722 2 483 2
TEIRETR A T 740 4 317 1 423 3 234 2
T SX ] ] FH 3R 1,255 1 604 -2 651 3 410 0
TR R TR 1,043 0 517 -1 526 1 355 0
TEIRHTSRAE 1,410 -5 685 -5 725 0 453 -1
TR AR 1,171 -3 551 -2 620 -1 415 -1
eI = AR 3,951 2| 1,913 3] 2,038 -1 1,386 -3
TR X EEET 10,965 2| 5,260 -5 5,705 7\ 3,736 -1
ERILIET_FSRESF 2,107 -1 1,000 -3 1,107 2 681 1
ERILIE] FREST 2,572 -1l 1,278 0] 1,294 -1 889 2
ERLLIETER/IM 2,075 -13| 1,038 -8 1,037 -5 782 -4
ERILLIE] o LR T 1,480 5 730 5 750 0 498 0
SIS 1,145 1 571 1 574 0 396 1
ERLLIET) 1R 2,336 -2 1,131 -3 1,205 1 815 -6
ERILIETER R T 5,423 -16| 2,619 -3 2,804 -13| 1,938 -14
ERILIMBXEEST 17,138 -27| 8,367 -11| 8,771 -16] 5,999 -20
a 5t 110,684 -53 53,741 -43 56,943 -10 43,448 -70




